
4 post rack mounting bracket (inner) ............ 2

4 post rack mounting bracket (outer) ............ 2

2 post rack mounting bracket ........................ 2

hand screw.................. 8

M4 screw..................... 4

M5 screw..................... 4

inch screw................... 4

cage nut...................... 4

Attach brackets c to the TeraStation with screws e. Attach the TeraStation to the rack with screws f 
or g.

Installation is complete.

a

b

c

d

e

f

g

h

c

c
Phillips (crosshead) screwdriver 

e

e

f gor f gor

35011025 ver.01 1-01

Rack InstallationRack Installation
TeraStation

1 2

Installation

A B

Included Parts

A Round Holes (2 post and 4 post)

Are the holes in your rack round or square?

Next Page

111

4 post rack mounting bracket (inner) ............ 2

4 post rack mounting bracket (outer) ............ 2

2 post rack mounting bracket ........................ 2

hand screw.................. 8

M4 screw..................... 4

M5 screw..................... 4

inch screw................... 4

cage nut...................... 4

Attach brackets c to the TeraStation with screws e. Attach the TeraStation to the rack with screws f 
or g.

Installation is complete.

a

b

c

d

e

f

g

h

c

c
Phillips (crosshead) screwdriver 

e

e

f gor f gor

35011025 ver.01 1-01

Rack InstallationRack Installation
TeraStation

1 2

Installation

A B

Included Parts

A Round Holes (2 post and 4 post)

Are the holes in your rack round or square?

Next Page

	 12 1



3

Phillips (crosshead) screwdriver

e

Phillips (crosshead) screwdriver

②

②

①①

Secure with hand 
screw d.

cutouts

mounting hole

15.875mm

15.875mm

b

b

d

d
d

c

c
e

f 
f 

d

Installation

Square HolesB

1 Attach the outer rack mounting brackets b to the 
back side of the rack and secure them with hand 
screws d.

2 Slide the inner rack mounting brackets a into 
brackets b from the front, then secure them with 
hand screws d.

3 Slide the TeraStation into the rack until it clicks into 
place.  Secure with hand screws d.

1 Insert 4 cage nuts h into mounting holes in the 
rack. 

2 Attach brackets c to the TeraStation with screws e. 

3 Attach the TeraStation to the rack with screws f.

Hint:  Hook one tab of each  
 cage nut, then use a flat-head 
screwdriver to insert the other 
tab.

4 post rack 2 post rack

  Back

     Front

    Front

     Back

Installation is complete. Installation is complete.

①
②

cutout mounting hole

15.875mm

d

   Back

   Front

d

①②

a

a

	 2 3



Phillips (crosshead) screwdriver

e

Phillips (crosshead) screwdriver

②

②

①①

Secure with hand 
screw d.

cutouts

mounting hole

15.875mm

15.875mm

b

b

d

d
d

c

c
e

f 
f 

d

Installation

Square HolesB

1 Attach the outer rack mounting brackets b to the 
back side of the rack and secure them with hand 
screws d.

2 Slide the inner rack mounting brackets a into 
brackets b from the front, then secure them with 
hand screws d.

3 Slide the TeraStation into the rack until it clicks into 
place.  Secure with hand screws d.

1 Insert 4 cage nuts h into mounting holes in the 
rack. 

2 Attach brackets c to the TeraStation with screws e. 

3 Attach the TeraStation to the rack with screws f.

Hint:  Hook one tab of each  
 cage nut, then use a flat-head 
screwdriver to insert the other 
tab.

4 post rack 2 post rack

  Back

     Front

    Front

     Back

Installation is complete. Installation is complete.

①
②

cutout mounting hole

15.875mm

d

   Back

   Front

d

①②

a

a

	 2 3



	 8

d
d

	 4 5



5	 4 5



d
d

	 6 7



	 6 7



d
d

	 8 9



	 8 9



d
d

	 10 11



	 10 11



	 12

www.buffalotech.com

	 12 1


